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BN ¥ 23 CEERED
_ _ _ Muo
SN - EH . S(3) - MRAY - BES O] &+ 0% Sl ko HRz2
22| ot 14,620,037 12,319,929 2,300,108
= 10,692,205
= 329,000
= 3,565,832
= 33,000
getadd g 339,850 410,924 AT1,074
2IHEE g4 23t 339,850 410,924 AT1,074
FESZII=lLdH |4 264,850 237,400 27,450
203 R =2 2,850 0 2,850
03 Al F A H R 2,850 0 2,850
LR LIRS 2,850
307 212+01 ™ 262,000 237,400 24,600
02212 B 4B 262,000 237,400 24,600
OsgdEZI|=Hgde XN 262,000
e S 25,000 0 25,000
201 L2 25,000 0 25,000
01 At2 22l 25,000 0 25,000
OMUBIIE EF4+42 15,000
OBZAFRRIIFE H0OIES HE 10,000
A I 2 AT O CH 26 = & 50,000 173,524 N 123,524
308 AtXISMSO0I & 50,000 165,124 A115,124
01 HXHHBLEEXS 50,000 165,124 A115,124
OSBIHT 7H 20 223 50,000
MEZol 2el 4,567,387 3,468,548 1,098,839
= 1,334,205
z 329,000
= 2,904,182
torE 2l 4,193,960 3,036,925 1,157,035
= 1,229,060
& 329,000
= 2,635,900
SAMERE=S W 2,267,000 2,146,000 121,000
308 XX/ I S 0| & 2,267,000 2,146,000 21,000
REFWES 2,267,000 2,146,000 121,000
OZNdRg=s 2,267,000
SEGHER L= WR 17,900 27,300 A9,400
308 AtXIEMISO0I A 17,900 27,300 9,400
(V2SR 17,900 27,300 29,400
SEE T EL T E! 17,900
HANAXNSKH E5 N2 1,218,000 307,125 910,875




22X sZ 22|
S MEZol el
S o1E 2tel (cte &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
= 937,000
& 281,000
403 XX SHHSA=201H 1,218,000 307,125 910,875
= 937,000
& 281,000
01 AXSHHANE2EX 1,218,000 307,125 910,875
OFEAHINATSK ES AL 1,218,000
= 937,000
& 281,000
ANEBHSAIEHE Jl=XE 55,000 47,500 7,500
307 212t0| & 55,000 47,500 7,500
02 QI2tA AN 55,000 47,500 7,500
OGHEISAMEE JI=XE 55,000
AP 2E=X =4 329,000 450,000 A 121,000
2 329,000
403 XX SIS K201 A 329,000 450,000 A 121,000
Z 329,000
AXSHHAE2E X 329,000 450,000 A 121,000
ONHET] &5 sXX4 329,000
Z 329,000
N=sAHUEXAIE 100,000 59,000 41,000
= 100,000
403 ANXISHHSA20l S 100,000 59,000 41,000
= 100,000
01 AXSHHANE2EX 100,000 59,000 41,000
OMsAHUAX ALY 100,000
= 100,000
IS HES 142,060 0 142,060
= 142,060
403 XIXI SIS K201 A 142,060 0 142,060
= 142,060
01 AEXIEHHI A2 2 & 142,060 0 142,060
O&IIXNSX B2 57,520
= 57,520
O&IIXNsS X sSEEH & 84,540
= 84,540
S EMEEX B3 65,000 0 65,000
= 50,000
& 15,000
403 XXM S K201 A 65,000 0 65,000
= 50,000
& 15,000
01 AXSHHANE2EX 65,000 0 65,000




A F2e
M M3 2
Chel: o1& 22 (&9 &d)
- _ _ HEE
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
OZ=dNeEX E2=AE 65,000
= 50,000
& 15,000
3y 2 373,427 431,623 58,196
= 105, 145
= 268,282
SHSHEAIL 22 48,600 28,600 20,000
201 L2 10,000 0 10,000
01 AtR 22l 10,000 0 10,000
OJlgszdaeiioles & M 10,000
202 O4H| 23,600 23,600 0
01 = LHAOHI 23,600 23,600 0
OILZHEANLE & 2= 23,600
301 22 a=s 15,000 5,000 10,000
2 IJIEt2d= 15,000 5,000 10,000
ORiZtstBHA AL HHELA: BSEL 3,000
OtZ2d N (128) &2 2,000
OdHEANEE BB E=LR0MNE2S 10,000
S SAY =4 174,900 126,812 48,088
= 3,500
= 171,400
307 g12+0l ™ 14,700 4,700 10,000
02 eABHE X 14,700 4,700 10,000
OadbatESAY X UASISAMUF 14,700
308 AtXI&HMISO0I A 160,200 122,112 38,088
= 3,500
& 156,700
01 AXEHMEMEELS 160,200 122,112 38,088
OaddadSAY 23 156,700
ogzltis&d A g5 X 3,500
= 3,500
SEIZZAHA 2S5 149,927 276,211 N126,284
= 101,645
= 48,282
402 QI 2tXH201 A 144,850 271,047 A126,197
= 96,568
= 48,282
01 BlIZtA= 2= 144,850 271,047 N126,197
O=2=JZZAMAA = 144,850
= 96,568
= 48,282
403 XX SHMS K= 01 A 5,077 5,164 NB7




A S22
S MEZol el
ool BFoE e (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
= 5,077
01 AEXIEHMI A 282 X 5,077 5,164 N87
O ESIAAZAMA 2= 5,077
= 5,077
HIoIZ2e &N Hel & 2 9,643,800 8,331,857 1,311,943
= 9,358,000
& 252,800
B g 33,000
HOIZ22 A He & el 9,643,800 8,331,857 1,311,943
= 9,358,000
& 252,800
£ 33,000
SEHHIY =HEAN=Z XS 280,000 280,000 0
= 280,000
308 XX SISOl A 280,000 280,000 0
= 280,000
01 AXIEMBAEEZ 280,000 280,000 0
OsZHHE =HBAZ XN 280,000
= 280,000
HIfIM0H& X &H| K& 1,262,000 300,000 962,000
= 1,262,000
403 XX S S K201 ™ 1,262,000 300,000 962,000
= 1,262,000
01 AXEHA=2EER 1,262,000 300,000 962,000
OHl /240 & X &dl 1,262,000
= 1,262,000
HIISMHEAE X XA 3,000,000 1,500,000 1,500,000
= 3,000,000
403 XIXISHHSA=20| A 3,000,000 1,500,000 1,500,000
= 3,000,000
01 MIXIEHAZ2E X 3,000,000 1,500,000 1,500,000
O A& Fb| 3,000,000
= 3,000,000
A2PAE X K& 2,000,000 3,145,000 A 1,145,000
= 2,000,000
403 XXM S AH=20| A 2,000,000 3,145,000 A 1,145,000
= 2,000,000
01 AXSHHMANE2E X 2,000,000 3,145,000 A 1,145,000
OXLZFAlE AX| 2,000,000
= 2,000,000
BIl2+H & X235 149,000 299,000 A 150,000
307 QI2t01 A 34,000 34,000 0
02 QI2tAAMNSE X 16,000 16,000 0




A SE 2l

B HOI2 OFE xel o 2
R HII=2 AFHXME E 2 (ctel: &
_ _ MNuE o
SNBSS - MEAY - BES 0] &F o il ot o Bz
OGREENZH B A EEE2 W= 16,000
04 BIZHHALE = 18,000 18,000 0
OXA=sold A 29 18,000
308 XX SHHMSOIA 115,000 115,000 0
01 IXNHHBAEES 18,000 18,000 0
Ol stZ=+H 18,000
08 JIEtRE= 97,000 97,000 0
SAUBIH 3l=AME 2ES 97,000
M dIdel 2 MelAlE XI# 792,800 672,857 119,943
= 656,000
L= 103,800
2 33,000
308 XXM S0IA 792,800 672,857 119,943
= 656,000
= 103,800
£ 33,000
01 IXHHBHNEXES 792,800 672,857 119,943
Osdot+ M4 M 526,500
= 420,000
= 73,500
2 33,000
OotEHMY I AIEAMZ 266,300
= 236,000
L= 30,300
HOI2HMelANdESs 2,160,000 210,000 1,950,000
= 2,160,000
403 AHXIEHH S X201 2,160,000 210,000 1,950,000
= 2,160,000
01 AXIEH A2 2L 2,160,000 210,000 1,950,000
OsAE2F HII=SHelAE &X 1,410,000
= 1,410,000
Os0E HJIES SEXMelAdE &X 750,000
= 750,000
HY2IZH| (B 22L) 69,000 108,600 239,600
Jl=2&Hl 69,000 108,600 A 39,600
Jl=3| 69,000 108,600 239,600
201 et A | 32,400 52,200 A 19,800
01 AFR 2t eld| 32,400 52,200 A 19,800
ogZ & 32,400
202 44| 32,400 52,200 219,800
01 =W A bl 32,400 52,200 219,800
ostgael 2= 32,400
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